20245 BEHFT Y Y H—BEISEN 3FEXRS

<TE)-U>

2A9H(A) HERYFIVFAE

AJOvH | MSSEEG BEA BRIBRD A+ [ b2 b=l #as kR |BRRE| BR IR sz
A1l A3
MSS&EG 2 0 0 10 0 10 6 1
6- 0 4- 0
A1l A5
BEA 0 0 2 0 7 -7 0 3
0- 6 0- 1
A3 A5
R A+ 1 0 1 1 4 -3 3 2
0- 4 1- 0

2A9H(A) HRYTIUFAE

BJOvs BEIL— KRR 548 ] b2 =1 #a k| |BrRAE| BAR JE {5z
A2 A4
BEITIL— 2 0 0 26 0 26 6 1
m -0 15 - 0
A2 A6
KAR 1 0 1 5 1 -6 3 2
0o - 1 5 - 0
A4 A6
Ai#B 0 0 2 0 20 -20 0 3
0 - 15 0 -5

<PE)-I>

2A98(A) #ERIFVUFA-BE

cJoyy ALk K3 KARKE ] % =1 /R k| |BEREl BA JE i
B3 B6
MLy 2 0 0 18 2 16 6 1
7 - 2 1 -0
B A
K3 8 8 1 0 1 4 7 -3 3 2
2 - 17 2 -0
B A
RKAREK ° 8 0 0 2 0 13 -13 0 3
0o - 11 0 - 2

2A9H(A) KISV FBE

p7AvHy BWELYF | BEARIAF | MIUAKRI A | MSSEBY [ b =1 (LT kR |BERE| BR JE fsz
B1 B4 B7
BWELYR 3 0 0 17 0 17 9 1
2 -0 10 -0 5 -0
B1 B8 B5
EEEROAL 2 0 1 4 3 1 6 2
0 - 2 2 -0 2 -1
B4 B8 B2
RmIARI A 0 0 3 0 17 -17 0 4
0 - 10 0 - 2 0 -5
B7 B5 B2
MSSE#Y 1 0 2 6 7 -1 3 3
0 -5 1 - 2 5 -0




